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Spring 2008
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Name:                                                                        ‘
This exam contains 25 questions.  Be sure to fill in an answer on your scantron for each question.  Good luck!

1. For a manufacturing company, product costs include all of the following except: 
a. Indirect material costs. 
b. Direct labor costs. 
c. Research and development costs. 
d. Facility overhead costs.
e. All of the above would be included in product cost.

2. At a $30 selling price, Babbs Company has sales of $12,000, variable manufacturing costs of $3,000, fixed manufacturing costs of $2,000, variable selling and administrative costs of $1,000 and fixed selling and administrative costs of $1,000. What is the company's contribution margin per unit? 

a. $22.50 

b. $20.00 

c. $17.50 

d. $12.50

e. None of the above.
3. All of the following are upstream costs except: 

a. Research and development. 
b. Selling costs. 
c. Design costs. 
d. Costs to build a prototype product. 

e. All of the above are upstream (i.e., “except” is not relevant).

4.  Once sales reach the breakeven point, each additional unit sold will do what?
a. Increase fixed cost by a proportionate amount
b. Reduce the margin of safety

c. Increase end-of-period inventory
d. Increase profit by an amount equal to the per unit contribution margin
e. Increase the company's operating leverage
5.  The Hamptons Company sells a product at $50 per unit that has unit variable costs of $30. The company's break-even sales volume is $100,000. How much profit will the company make if it sells 6,000 units? 
a. $200,000 
b. $120,000 
c. $100,000 
d. $  60,000

e. None of the above
6.  Snazzy Clothier has three clothing departments:  men’s, women’s, and children’s.  Each department has a different manager.  The managers are rewarded based on their respective department’s profitability.  Snazzy expects $500,000 of overhead cost for the upcoming year.  The company’s accountant has provided the following list of possible cost drivers.

Men’s 

Women’s 
Children’s

Department
Department
Department

Sq. footage occupied

4,000

11,000

3,000



Number of sales staff

2

5

4

Number of sales transactions
100,000

125,000

150,000

Which cost driver would the manager of the children’s department find most favorable for the company to use to allocate overhead cost?

a. Sq. footage occupied

b. Number of sales staff

c. Number of sales transactions

d. A or B result in the same result

e. There is not enough information to determine

7.  Select the correct statement regarding fixed costs. 

a. Because they do not change, fixed costs should be ignored in decision making.

b. The fixed cost per unit increases when volume increases.

c. Fixed costs, in total, must be greater than total variable costs.

d. The fixed cost per unit decreases when volume increases.

e. The fixed cost per unit does not change when volume decreases.

8.  Select the correct statement from the following. 

a. A fixed cost structure offers less risk (i.e., less earnings volatility) and higher opportunity for profitability than does a variable cost structure.

b. A variable cost structure offers less risk and higher opportunity for profitability than does a fixed cost structure.

c. A fixed cost structure offers greater risk but higher opportunity for profitability than does a variable cost structure.

d. A variable cost structure offers greater risk but higher opportunity for profitability than does a fixed cost structure.

e. Cost structure and risk are independent concepts

9. Cosmo Company produces a product whose cost is $24. Assuming the company uses a cost-plus pricing system, what profit per unit would be earned on a selling price set to earn a profit margin of 30% of cost? 
a. $  7.20 
b. $  9.36
c. $16.80
d. $31.20

e. None of the above
10.  Idiots Lord Company plans to introduce a new product. A market research specialist claims that 2,000 units can be sold at a $300 selling price.  Assuming the company desires a profit margin of 20% of sales, what is the target cost per unit? 
a. $360 
b. $300 
c. $250
d. $  50
e. None of the above
11. Hamby Company expects to incur overhead costs of $20,000 per month and direct production costs of $125 per unit. The estimated production activity for the upcoming year is 2,400 units. If the company desires to earn a gross profit of $50 per unit, the sales price per unit would be which of the following amounts? 

a. $283

b. $275

c. $230

d. $475

e. None of the above

12.  A chair manufacturer makes custom chairs using hand tools, wood, glue, and varnish. Which of the following statements is true?

a. The costs of wood and glue would be treated as direct costs.

b. Wood, glue and varnish would all be direct materials.

c. Wood would be accounted for as a direct cost, and glue and varnish as indirect costs.

d. The concepts of direct and indirect costs are not applicable here.

e. None of the above

13.  During its first year of operations, Hill Company paid $15,000 for direct materials, paid production employees $10,000 and paid general, selling, and administrative expenses of $5,000. Assuming that the average cost to produce one unit was $16 and that 2,000 units were produced and sold during the period, how much overhead was incurred? 
a. $15 per unit

b. $2,000 
c. $1 per unit

d. $7,000 
e. None of the above 

14.  Joint products A and B emerge from common processing that costs $80,000 and yields 5,000 units of Product A and 4,000 units of Product B. Product A can be sold for $100 per unit. Product B can be sold for $80 per unit. What amount of the joint costs will be assigned to Product A if joint costs are allocated on the basis of market value?  (round to the nearest dollar) 

a. $35,556

b. $48,780

c. $31,220

d. $44,444

e. None of the above

15.  What is the typical effect on the financial statements of making cash sales of inventory to customers?  Keep in mind, typically, companies sell their products at a profit.
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a. Item A

b. Item B

c. Item C

d. Item D

e. None of the above

16.  Identify the true statement regarding how product costs in a manufacturing company differ from product costs in a service company. 
a. Manufacturing companies incur costs for supplies but service companies do not. 
b. Manufacturing companies accumulate product costs in inventory accounts, while services companies do not. 

c. There is no difference between product cost in a manufacturing versus service environment
d. Service companies generally incur less labor costs as a percentage of total costs relative to manufacturing companies. 
e. Service companies are typically less competitive than manufacturing companies. 
17.  Rifkin Company has not reported a profit in four years. This year the company would like to narrow its loss to $10,000. Assuming its selling price is $32 per unit and its variable costs per unit are $24, how many units must be sold to achieve its target given that total fixed costs are $50,000? 
a. 7,500 
b. 5,000 
c. 1,875 
d. 1,250

e. None of the above
18. Newman Company produces a product that has a selling price of $25.00 and a variable cost of $13.00 per unit. The company's fixed costs are $60,000. What is the breakeven point measured in sales dollars? 
a. $115,385

b. $152,000 
c. $  60,000 
d. $  45,000

e. None of the above
19.  Which of the following statements is true with regard to product costs versus general, selling, and administrative costs? 

a. Product costs associated with unsold units appear on the income statement as general expenses. 
b. General, selling, and administrative costs appear on the balance sheet. 

c. Misclassification of costs (product costs being labeled GSA costs or vice versa) always increases reported net income.
d. Product costs associated with units sold appear on the Income Statement as cost of good sold expense. 
e. None of the above is true

20.  At the beginning of 2008, Barr Co. estimated that its total annual fixed overhead costs would amount to $100,000. Further, Barr estimated that its volume of production would be 4,000 units of product. Based on these estimates, Barr computed a predetermined overhead rate that was used to allocate overhead costs to the products made in 2008. As predicted, actual fixed overhead costs did amount to $100,000. However, actual volume of production amounted to only 3,600 units of product. Based on this information alone, 

a. Products were costed accurately in 2008.

b. Products were overcosted in 2008.

c. Products were undercosted in 2008.

d. Product costing has nothing to do with overhead cost.

e. The answer cannot be determined from the information provided.

21.  An increase in the level of activity will have the following effects on variable cost per unit and fixed cost per unit:

       Variable Cost Per Unit   

Fixed Cost Per Unit

        ———————
  
———————

     a. 
Increase             

Decrease

     b. 
Remains constant     

Remains constant

     c. 
Decrease            

Remains constant

     d. 
Remains constant     

Decrease

     e. 
Increase


Increase

22.  At the high level of activity in November, 7,000 machine hours were run and power costs were $8,000. In April, a month of low activity, 2,000 machine hours were run and power costs amounted to $4,000.  Using the high-low method, the estimated fixed cost element of power costs is
     a. $8,000.

     b. $4,000.

     c. $1,143.

     d. $5,600.

     e. None of the above.
23.  At the beginning of the year, Roach Company expected to incur $54,000 of overhead costs in producing 6,000 units of product.  The direct material cost is $20 per unit of product.  Direct labor cost is $30 per unit.  During Janaury, 500 units were produced.  The total cost of the units made in Janaury was:
     a. $29,500
     b. $25,000
     c. $   4,500
     d. $         0
     e. None of the above.
24. Based on the income statements shown below, which division has the cost structure with the lowest operating leverage? 
 [image: image2.wmf]
a. A blended average of the divisions would create the lowest leverage.

b. Bottled Water 

c. Fruit Juices

d. Soft Drinks

e. The three divisions have identical operating leverage.

25. The following income statement is provided for Lolly Company in 2007: 

	Sales revenue (2,500 units * $20 per unit)
	 $     50,000 

	Cost of goods sold (variable; 2,500 units * $8 per unit)
	       (20,000)

	Cost of goods sold (fixed)
	         (4,000)

	Gross Margin
	 $     26,000 

	Administrative salaries
	         (6,000)

	Depreciation
	         (4,000)

	Supplies (2,500 units * $2 per unit)
	         (5,000)

	Net Income
	 $     11,000 



What amount was the company's contribution margin? 
a. $11,000
b. $25,000
c. $26,000
d. $30,000

e. None of the above
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